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LTEMNEEEY, WPREL dividend FBREY divisor, SHEAERR, BEXRAERAFRE. BRIEM mod iz8

o

IREIHFFEL dividend BRLABRER divisor 52URYR.

BB ERE RN MEZE (truncate) E/NEERS, fI40: truncate(8.345) = 8 LK truncate(-2.73
5)=-2

5l 1:

i\ dividend = 10, divisor = 3
Hit: 3
fE%%: 10/3 = truncate(3.33333.)) = truncate(3) = 3
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BRIRFAIFIMEREEFNE 32 (UBMSEE, HEEBETERR [-2731, 2431 - 1], F&8H, MRFE
SR, WikME] 2731 - 1,
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class Solution {
public int divide(int dividend , int divisor) {
int sign = 1;
long x = dividend, y = divisor;
if (x <0 &&y < 0){
sign =1;
X=-X
y=-vy
}
else if (x < 0){
sign = -1;
X=-X
}
else if (y < 0){
sign = -1;
y=-vy

else{
sign =1;
}

List<Long> exp = new ArrayList<>();

for(longi=vy;i<=x1i=i+i)
exp.add(i);

}
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long res = 0;
for (inti = exp.size() - 1;i >= 0; i--){
if (x >= exp.get(i)){
x -= exp.get(i);
res += 1L << i;

}
}
if (sign == -T){
res = - res;
}

if (res > Integer.MAX_VALUE || res < Integer.MIN_VALUE){
return Integer. MAX_VALUE;
}

return (int)res;
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